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Instructions for Candidates
1. Write yoﬁ.r ‘Roﬁ‘ No. on the top immediately on.receipt
. of this question paper.

2. Attempt all questions.
- 3. All questions carry equal marks.

a1 AnsWers may be written either in English or Hindi;

* but the same medium should be used throughout the

7T - paper. : ‘
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1. (a) State with reasons in brief whether he following

statements are true or false : i 9)

(1) Void contracts and voidable contracts are

one and the same EEW.

(i) A stranger to a consideration cannot sue.

(iii) Indirect loss can only be claimed by Em‘

aggrieved party if it is in the contemplation

of the parties.

(b) Mistake results in a contract to be void, valid as

well as voidable. Elucidate. (6)
OR

(a) State with reasons whether the following

sStatements are true or false : )
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(1) A minor can ratify oosﬂnw0wm.

(i1) Fraud and misrepresentation are the same

thing.

(iii) The parties are free to make their own

bargains.

(b) Harsh promised to pay Rs. 10000 per month to
his wife Sunita for her medical treatment. Is
‘the contract valid? Does writing and registration

in any way affect the validity of the contract.

Explain. . - (6)
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20 ay All insurance contracts are wagering contracts.

Discuss. : (5)

(b) Uom;m‘ certain relations resembling those
created by contracts and discuss any two of them
in detail. ‘ ‘ (5)
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(c) In case the Bailee does not recéive payment

under the contract. Which right is available to

 him? Discuss this right in detail, Discussing the

kinds as well as bringing out the differences if

any. : (5)
OR

(a) Impossibility of performance is not an excuse for

performance of a contract. Explain. %)
(b) Surety is a favoured Debtor. Discuss. o)

A& A delegate cannot further delegate. Elaborate this

~ statement. A (5)
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W A ; - o o B el B fw T (a) (i) Why is it important to determine the time in
| ) weid MERER] Figd . ;

7 0 3 mm,w : which ownership will pass? 3)
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(ii) Is right of resale available to the unpaid seller.
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| A Comment. L 3)
[ , o ;
,; ?3 v g s st W B g | T HUT R (i) Goods are delivered by Mahesh, a seller
i farga %» I , v for transmission to Bablu the buyer. The
| ; :
r—— | , goods are loaded on 25th October on a
; | 3. (a) Define the term Goods under Sale L oods carrier without the m.o:mn reserving any
ﬂ 7 ; (5) . -right of disposal. If the goods get damaged
,, Act. : :
: : : ; or destroyed on the way who will bear
(b) Right of stoppage of goods in transit is an extension . the loss. Will the answer be different if
j.h of unpaid sellers right of lien. Discuss. : () _ the seller reserves his right of disposal.
. ———————r— , 3 ¢ ; , : Aw v
| (c) Arun contracted with Vimal to deliver 100 kg of :

rice, but on 25th October he could deliver only (b) Define sale and differentiate between sale and

heu 30 kg but his intention was to complete the contract )

wmammgma to sell. ity
| When is property in goods aooE,mm to be @wmmwa. . | ; :
Will the answer be different if the intention of the . (=) arEi A«:ﬁv ST Gt UM S — Y Aﬁm.v cl
party is to severe the contract from the whole . SR e |

contract. e e (%)

PO,




8409 8

(@) T ¥ W D FEE W W 0
siaf RRas @ T few 31w w0

@) st 3 100 Freh w3 & g e B w9 gy
wg.Qwﬂmmmﬁﬁmmwmmmﬁxwomﬁwwqw
aﬁ‘%wﬂaﬁmmﬁuamm%ﬁgwmwm&qﬁ~§
< e e & o W ¥ W wie & 3w

ﬂmﬁmﬁa%ﬂ%ﬂiﬁﬂﬁ_%ﬂmﬂﬂwg
B

i

@ 0 wﬁﬁyﬂ%@a%%%g
i weea 8 ?

(i) A W AR aﬁ%ﬁqmﬁﬂJ%,ma
dﬁﬁuw“w%ﬁq%ﬁaﬂw

(iii) ganﬁéﬁﬁgﬁa%ﬂiﬁsmwwamﬁaﬁ%g
R W R M A 25 IR W WE

e T e P S 3, e @ e R
%%mﬁﬂm@%ﬁﬁdwwmmg§~%@§a® .

8409 : 9

I R @ TR ¥ A B R A g A
Jowm ? Al fwar s Fues @ sifter
e W ? N I e e 7

(@) R = wRfm R I R ok Ay B fre wwE
B 9" AR T F:

4. (a) Explain the term designated partner. Discuss the

- provisions regarding appointment and eligibility

condition of designated partner. Gv.

(b) Explain the procedure and owmooﬁ.om converting a

~ firm into an LLP.

)

(c) Provisions of taxations for LLP rm<o«m<o_<oa over

time. Discuss. %) ,

OR

~(a) LLP is a hybrid between a ooB,@m:%. and a

(2

partnership firm. Discuss.

(b) How are auditors appointed in an LLP? )
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(c) How can an LLP be incorporated under LLP Act
2008? ()
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(a) Information and Technology >o:m not applicable

to which contracts. Enumerate. (5
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(b) Differentiate between private mzm c:w:o\w@ ‘
(%)

(c) Define the term subscriber and what are his duties
under the IT Act. : %)

OR
(a) Explain the powers of certifying aufhorities. (5)

(b) Explain Digital signature and roé. are they

different from Electronic signatures. &)

~ (¢) What do you mean by Cyber Terrorism? )
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